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QT 3397 :
HEIITRIA 5% %1 S5 draer] & qieq 3Rk 371 &xed] & JIc oy :

(1)
(ii)
(iii)
(iv)
(v)

(vi)
(vii)

(viit)

(ix)

39 Jo7-97 4 38 7 & | @i 37 SHfAard & |

T8 J97-97 qiel @Sl H [a9ifdd 8 — &, @&, T, 90a & /

GV & 4 Y7 q&] 1 § 18 T% Fglaehedid o7 ¥4 q&l 19 U 20 374597
T a% SEIRT Ueb-Teh 31k & Yo & |

GUE @ H Fv7 &7 21 T 25 % 3717 Tg-F709 (VSA) IR & F1-g1 37l & o7

g/

GUe T 4 97 G&I7 26 & 31 7% TG-ITHIT (SA) JPR & di4-al4 37H & 397

g

VT g § y97 &7 32 @ 35 % -3 (LA) PR & Giea-gie 375! & J97 8 /
GUE T F yvT &I 36 @ 38 YU IyIT STYIRT WAR-GR 37H & 97

g

J97-97 H GHY faheq 787 1397 71 8 | e, @ve @ & 2 ¥l 7, @UE 7 & 3 g
4, @S g % 2 v 7 797 GUS & & 2 oA 7 aRkFE AT F JIae 591 T

&/
Fogpeiet & ITIT dfedd 8 |

@usg <h

39 @US H FFIEAHeIT J &, 574 I J97 1 37 1 8 |

1.

IfE AT 3 x 4 ISYE & A1 B Th UHT TR & foh A’B T AB’ gHI giwIea
&, 1 37gg B HIfC B :

(a) 3 x4 (b) 3x3

(¢) 4 x4 d 4x3

Ifg sfwt (2, — 6), (5, 4) qAT (k, 4) I BAYS HT &%A 35 o 68 7,

kSR B :
(a) 12 b)) -2

(o0 -12, -2 d 12, -2

65/4/3 ~~~~ Page 2



e

General Instructions :

Read the following instructions very carefully and strictly follow them :

(1)

(ii)

(iii)

(iv)

(v)

(vt)

(vii)

(viii)

(ix)

This question paper contains 38 questions. All questions are compulsory.
This question paper is divided into five Sections - A, B, C, D and E.

In Section A, Questions no. 1 to 18 are multiple choice questions (MCQs) and
questions number 19 and 20 are Assertion-Reason based questions of 1 mark
each.

In Section B, Questions no. 21 to 25 are very short answer (VSA) type
questions, carrying 2 marks each.

In Section C, Questions no. 26 to 31 are short answer (SA) type questions,
carrying 3 marks each.

In Section D, Questions no. 32 to 35 are long answer (LA) type questions
carrying 5 marks each.

In Section E, Questions no. 36 to 38 are case study based questions carrying
4 marks each.

There is no overall choice. However, an internal choice has been provided in
2 questions in Section B, 3 questions in Section C, 2 questions in Section D and
2 questions in Section E.

Use of calculators is not allowed.

SECTION A

This section comprises multiple choice questions (MCQs) of 1 mark each.

If A is a 3 X 4 matrix and B is a matrix such that A’'B and AB’ are both
defined, then the order of the matrix B is :

(a) 3x4 (b) 3x3
() 4x4 (d 4x3

If the area of a triangle with vertices (2, —6), (5, 4) and (k, 4) is
35 sq units, then k is

(a) 12 by -2
(c) -12, -2 d 12, -2

65/4/3 ~~~~ Page 3 P.T.O.



3. IRfx)=2|x| +3|sinx| +6 &, aA fix) HTx = 0 W T Y&T T ThA & :

(a) 6 (b) 5
(c) 3 d 2
1 2 4
4. W&X{z}+y[5}—[§]%,?ﬁ.
(a0 x=1,y=2 b)) x=2,y=1
(c) x=1 y=-1 d x=3,y=2

5. IfC3MYE A=[1 2 3] §, I 3TTYE AA' ® (& A’ 3TJg A %l uREd 2) -

1 0 O
(a) 14 (b) 0O 2 0
0O 0 3
1 2 3]
(c) 2 3 1 @ [14]
3 1 2]
a bl|l -b
Sl PO N L
-b a]| a
(.2 1.2 i 2
() a”+b 0 ®) (a+b)* 0
0 a? +p? (@a+b? 0
.2 2 B 0
© a“+b 0 @ a
a2 +b2 0 0 b
7. ﬁg (p: q, r)ﬁ y-3:|‘8\;|- ﬁ @ % .
(a) q (b) Iq
© lal +Ir] @ p?+r?
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Iff(lx) =2|x| + 3|sin x| + 6, then the right hand derivative of f(x) at x =0
is :

(a) 6 (b)
(c) 3 (d)
Ifx[l} + y[z] = [é}, then :
2 5 9
(a) x=1 y=2 b) x=2,y=1
(c) x=1 y=-1 d x=3,y=2

If a matrix A = [1 2 3], then the matrix AA’ (where A’ is the transpose
of A)is:

1 00
(a) 14 (b) 0 20
0 0 3
1 2 3
(c) 2 31 (d) [14]
3 1 2
b -b
The product 2 2 is equal to :
—b aflb a
.2 2 i 2
(a) a“+b , 0 , (b) (a+ b)2 0
0 a“+b (a+b)* ©
R _
a“+b“ 0 a 0
d
(c) 212 O:| (d) 0 b}
Distance of the point (p, q, r) from y-axis is :
(a) q (b) |ql
© lal+]r| d p*+r?

65/4/3 ~~~~ Page 5 P.T.O.



8. 3T 3x + 5y <7 I & A=A 1 :
(a) @13x + by = 7T TEa forgati ! B AN QU xy-ad
(b) @1 3x + by = 7R feuq fogatt & @19 @ xy-aa

() 3@ 3x + 5y = 7 W fe¥d fogani 1 S a8 gal aen aa o
Te-fog ot 7 |
(d) 9% Ga e qd o qo-fog 76 R |

a
9. qﬁ-“szdx=8%,?ﬁ‘a’W1¢F{%:
0

(a) 2 (b) 4
(e) 8 d) 10

. —> -
10. Wi a =31 4+ +2k M b =1 + ) +2k % o= % Hor 1 w0 (W) B

5 5
(a) E (b) ﬁ
3 4

1. Www(ﬁf+(dy)3:xsin(d—y)%aﬁﬁam(aﬁqﬁﬂﬁﬁé)

dx2 dx dx
ShHRI: % :
(@) 2,2 b) 1,3
© 2,3 (@ 2,9rd afta &t

12. Ie5l°gx dx SR B

5 6
(a) X? +C (b) % +C
(¢) 5xt+C d) 6x5+C

65/4/3 ~~~~ Page 6



8. The solution set of the inequation 3x + 5y < 7 is :
(a)  whole xy-plane except the points lying on the line 3x + 5y = 7.
(b)  whole xy-plane along with the points lying on the line 3x + 5y = 7.

(c) open half plane containing the origin except the points of line
3x + 5y =17.

(d)  open half plane not containing the origin.

a
9. If J‘ 3x2 dx = 8, then the value of ‘a’is :
0

(a) 2 (b) 4
(c) 8 (d 10

%
10. The sine of the angle between the vectors a = 3/i\ + 3\ + 212 and

> A A
b=1+]j +2kis:

5 5
3 4
(C) a (d) —,—21

11. The order and degree (if defined) of the differential equation,

2
2 3
d%y n (d_y) —x sin (ﬂ) respectively are :
dx2 dx dx

(a) 2,2 (b) 1,3
(c) 2,3 (d) 2, degree not defined

12. je5 logx 4x is equal to :

5 6
X X
— +C b — +C
(a) 5 + (b) 5 +
(e) 5x% + C d 6x°+C

65/4/3 ~~~~ Page 7 P.T.O.



13. dfew4i — 3k 1 o o e umes Gy R
(@) %(4&312)

(b) %(4? _3hk)

() %(4? _3k)
@ Ll _sk)
J5

14. T=fafgd #§ | sH-a1 fog T SH1 srafieniat sl aqee widi @ ?
2x +y<10dAT x + 2y > 8

(a (=2,4) ()  @3,2)

() (=5,6) (d 4,2)

15. Zlﬁy:sinQ(x?’)%,?ﬁ j—y W%:
X

3

(a) 2 sin x3 cos x°3 (b) 3x3 sin x3 cos x3

(e) 6x2 sin x3 cos x° (d) 2x2sin? (x3)

16.  xy-dd %l 13 o3 (x, y, 0), 63Tl (1, 2, 3) AT (3, 2, 1) ! THeTH dTet TWTEvs

w1 o oruma § siear R, 98 B ¢
(a) 1:2 3Ad: (b) 2:13A:
(c) 3:1 3. (d 3:19m™

65/4/3 ~~~~ Page 8



A N
13. A unit vector along the vector 4i — 3k is:

(a) %(4? _3k)

(b) %(4? _3k)

© %(4? _3k)
@ @l —sk)
J5

14. Which of the following points satisfies both the inequations 2x + y < 10

and x + 2y > 8 ?
(a) (=2,4) (b)  (3,2)

() (=5,6) d 4,2)

15. Ify =sin?(x3), then 3_y is equal to :
X

3 3

(a) 2 sin x3 cos x°3 (b) 3x3 sin x° cos x

(e) 6x2 sin x3 cos x° (d) 2x2sin? (x3)

16. The point (x, y, 0) on the xy-plane divides the line segment joining the
points (1, 2, 3) and (3, 2, 1) in the ratio :

(a) 1: 2 internally (b) 2:1internally
(c) 3 : 1 internally (d) 3:1 externally

65/4/3 ~~~~ Page 9 P.T.O.



18.

Tds g1 E 99T F & fou, I P(E) = 0- 39T P(EUF) = 057, @
P(E/F) — P(F/E) sUsT @ :

1 2
(a) 7 (b) 7

3 1
(C) g (d) %

IIHd GHIHT x g_y — y=2x? %I 5@ L & AT TR U B
X
-X

o
1
X

(a) e (b)
(c) X (d)

I G 19 3K 20 SUHIT U5 b SEIRT F97 & 3N Io9b I & 1 3%
& 1 3 %o 137 77 & [57H v %] 719F (A) G971 G&R H1 @ (R) GRT 3l 137 T
g 1 37 3v91 & @&l I A7 13T 7T B (a), (b), (c) 3K (d) F T gTIH T

19.

20.

(a)  ANRIA (A) 3R Tk (R) THI T&1 & 3R @b (R), AR (A) T Fal
ST LT 2 |

(b)  3HHA (A) 3R Tk (R) GHI Hal 7, Tg b (R), JANTHAT (A) 1 Fal
T g7 a1 2 |

(c)  3fUHH (A) TE g T b (R) TeTd & |
(@ AR (A) TAd 8 q1 dh (R) T8l 2 |

e = > o> - . .
SFYT (A): W ¢ = a;+Ab; A 1 = ag + pby WER d&dq 8, &
> -
by .be=0% I

=

— -
r

@b (R) : Y@ ¢ o= + Aby Al =a_2)+pb_; % <= 1 I 6,

b, .

lmm%

cos 0 = —

1oy 11

STV

37fpeT (A) : aft Brenuifidia werl & 3199 U= § Jchd B1d 8 |
T (R) : tan—l x % fRefl x € R & foTU Yopm o1 e1fedea 2 |

65/4/3 ~ e~~~ Page 10



18.

The events E and F are independent. If P(E) = 0-3 and P(E U F) = 0-5,

then P(E/F) — P(F/E) equals :

1 2
l b)) Z
(a) = (b) 7
3 1
2 d —
(© 35 (d) 0
The integrating factor for solving the differential
X g—z -y =2x2 is :
(a) e (b) eX
1
() x d =
X

equation

Questions number 19 and 20 are Assertion and Reason based questions carrying
1 mark each. Two statements are given, one labelled Assertion (A) and the other
labelled Reason (R). Select the correct answer from the codes (a), (b), (c) and (d)

as given below.

19.

20.

(a) Both Assertion (A) and Reason (R) are true and Reason (R) is the

correct explanation of the Assertion (A).

(b)  Both Assertion (A) and Reason (R) are true, but Reason (R) is not

the correct explanation of the Assertion (A).
(c) Assertion (A) is true and Reason (R) is false.

(d) Assertion (A) is false and Reason (R) is true.

' ' - - — - -
Assertion (A): The lines r = aj+ Ab; and r = ag+

_ > o
perpendicular, when by . by =0.

_ > o> o
Reason (R): The angle 6 between the lines r =aj+21ib;
- -
e b, . b,
r =ag+pby isgiven by cos 0 =———
by I1b |

%
uby are

Assertion (A) : All trigonometric functions have their inverses over their

respective domains.

Reason (R): The inverse of tan~! x exists for some x € R.

65/4/3 ~ e~~~ Page 11
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Qs @

39 GUg 4 37fq Tg-F70T (VSA) FBR & T97 8, 78 J9% & 2 3% & |

= eX— d_Y_Y(X_l)
21. AT xy= Y%,?ﬁw‘sqﬁﬁdx_—x(yﬂ).

22. (%) y=sin"1(x2-4)FH I TG HIT |

HAAT

(@) @M I I :
el 5]

23. H&H&:ﬂ?+§+ﬁwaﬁﬂp?+§—21§qtsrétr%%,?ﬁpw/%m
3ma i |

24. T y2 = 8x W I8 Tog F1a HIfT ST x-Fgres qon y-frawmss a9 @ 9
EAd & |

25. (%) fog (2, 1, 3) ¥ BT IH dlﬂr\lﬁmi'@TC”ﬁXIlzy;2=Z;3;

_i?,:%:% 2T T, Tk 1@ T FG THIHOT F HIT |

AT

(@) Uh W@ o THR0 5x — 3 =15y + 7=3 — 10z 8 | 39 W1 &
fosp-hrams feTRau qem 36 X feua o forg o faemmes s i |
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SECTION B

This section comprises very short answer (VSA) type questions of 2 marks each.

21. Ifxy=eX~Y, then show that dy = y(x——l) .
dx  x(y+1)

22. (a) Find the domain of y = sin™! (x2 — 4).
OR
(b)  Evaluate:

.. A N A A N AN |
23. If the projection of the vector i + j + k on the vector pi + j —2k is 3

then find the value(s) of p.

24. Find the point on the curve y2 = 8x for which the abscissa and ordinate
change at the same rate.

25. (a) Find the vector equation of the line passing through the point
(2, 1, 3) and perpendicular to both the lines

x-1 y-2 z-3 x
1 2 3 7 _3
OR

(b)  The equations of a line are 5x — 3 = 15y + 7 = 3 — 10z. Write the
direction cosines of the line and find the coordinates of a point

y_2z
2 5

through which it passes.

65/4/3 ~~~~ Page 13 P.T.O.
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37 GV § &TY-3F70F (SA) TR & F97 8, 578 4% & 3 3% & |

26.

27.

28.

29.

EI'I?I@'%I'Q:

Jimmim®
1-x)1+x2)

(%) @M Fd HS :

1
311/3
j—(x_x ) dx

X4

1/3
YT
(@) ¥ F1d HIfT :
3
J‘{|(x—1)|+|(x—2)|}dx

1

frfafaa Was Tume g9e F1 AeE g 8 HINT ;
=gUel  3x + by < 15,
5x + 2y < 10,

x,y=>0
o A z = 5x + 3y T fehdd A HTd T |

30 Scdl i Th < § |, N 6 59 @S &, 2 Fodi S Th A Agesdl

Teh-Ueh ohich UILTIA Afgd fHertell TR | T« dodl hl T o1 Tiehdl se

A ShifoTe, 37d: TS Sosl sl TEIT Sl HIET F1d hIfoT |
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[Of40]
S5
SECTION C

This section comprises short answer (SA) type questions of 3 marks each.

26. Find:

Jimmiom e
(1-x)(1+x2)

27. (a) Evaluate :

1
ENVE!
j—(x x”) dx

X4

1/3
OR

(b) Evaluate :
3

J‘{|(x—1)|+|(x—2)| }dx

1

28. Solve the following linear programming problem graphically :
Maximise z = 5x + 3y
subject to the constraints
3x + by < 15,
5x + 2y < 10,
x,y2>0.

29. From a lot of 30 bulbs which include 6 defective bulbs, a sample of
2 bulbs is drawn at random one by one with replacement. Find the
probability distribution of the number of defective bulbs and hence find

the mean number of defective bulbs.

65/4/3 ~~~~ Page 15 P.T.O.



31.

(%) SFeThel GHIH 3—1:";3’, y(1) = 0 =1 faf3re gt 3 shifste |

HAAT
(@) 3Tdehad FHIRUT eX tan y dx + (1 — eX) sec? y dy = 0 1 FTUh BA AT
iU |
(%) WM A HWT
n/2 _
J‘ezx(l—sm2x)dx
1 —cos 2x
n/4
HIAT
(@) #M I I :
2

[
1+5F

-2

Qs ¥

39 GUS 4 FH-3509 (LA) IHR & J97 &, 978 I35 & 5 3% 5 /

32.

33.

) FatnoLomm 5 2 25 e e

AT

(@) Q%AABC%sﬂﬁBHmC%@TX;’z:yIl:Zthﬁ?%%l

A ABC &1 &3%d §1d shife Siafer fan mn & T fag A & Femmes
(1, -1, 2) § 91 T@rave BC &I @aw 5 THE © |

1 -1 2
WA{O 2 —3}WWWWIWA—1%WQ,
3 -2 4

Mges Trfientor P x —y +22=1;2y—32=1; 3x — 2y + 4z = 3 ! &A
i |

65/4/3 ~ e~~~ Page 16



30. (a) Find the particular solution of the differential equation

dy x+y
- = 1)=0.
dx » y()

OR

(b)  Find the general solution of the differential equation
eXtan y dx + (1 — e¥) sec? y dy = 0.

31. (a) Evaluate :
n/2

02X (1—s1n 2X) dx
1—cos 2x
n/4

OR

(b) Evaluate :
2

[
1+5%

-2

SECTION D

This section comprises long answer (LA) type questions of 5 marks each.
32. (a) Find the image of the point (2, —1, 5) in the line
x-11 y+2 z+8

10 -4 -11°
OR
(b) Vertices B and C of A ABC lie on the line X ; 2 . I 1 = ZZ . Find

the area of A ABC given that point A has coordinates (1, -1, 2) and
the line segment BC has length of 5 units.

1 -1 2
33. Find the inverse of the matrix A=|0 2 -3 |. Using the inverse,
3 -2 4

A_l, solve the system of linear equations

x—y+2z=1; 2y—-3z=1; 3x—2y +4z=3.

65/4/3 ~~~~ Page 17 P.T.O.



34. THTHST o YN A, WA y2 = 4dax qAT 38 AV & R &7 H1 &b
ITa il |

35. (%) A N, @ Uohd H&ATST o TH= hl Mg Ha1 8 991 N x NH &
F9Y R, 39 YR IRWINA 8 T (a, b) R (¢, d), I(¢ ad(b + ¢) = bela + d).
guITEe o6 R T Joddl 96y 7 |

YT

(@) II'F!Tf:]R—{—%}a]R, f(x)=3:i4 I IR Ush heid B | gy

for U Tehehl ®oad 3 | I8 WY S= hIfST foF £ U 3TT=sicsh o & A1
T3l |

Qs &

39 GUS H 3 JH e TERT J97 &, 977 Jedsb & 4 7% 3 |

ThT0T FAEFIAT - 1

36. Ush Yad S I 3hel, Teh TAlE T 4 FAC qAT UTfehTT &5 hl 1T T & |

FSATA o HIUT 98 8 HTHeh[ o HM T 7 T I hH! WA 0-65 2 | 55ga

gigeni o 7 8H W W HF % 9T W YU & T HI TRERAT 0-35 7 | G
fehi o T T 3T T 1 GHT T U 8 I TTRHAT 0-80 7 |

HHT : Eq : MEUd a1 8 36 =1 1 S 95d | AfHep HH W A& 3

E, : T&lUa tar g 98 oo 5« gt #fieh s W 3 3R

E : f&ua =t 8 76 % 999 | qU 81 91a1 2 |

65/4/3 ~ e~~~ Page 18



34. Using integration, find the area of the region bounded by the parabola
y2 = 4ax and its latus rectum.

35. (a) If N denotes the set of all natural numbers and R is the relation on
N x N defined by (a, b) R (c, d), if ad(b + ¢) = be(a + d). Show that R

is an equivalence relation.

OR

4

(b) Letf:R - {— g} — R be a function defined as f(x) = 3 ax

X+ 4

. Show

that f is a one-one function. Also, check whether f is an onto

function or not.

SECTION E

This section comprises 3 case study based questions of 4 marks each.

Case Study -1
36. A building contractor undertakes a job to construct 4 flats on a plot along
with parking area. Due to strike the probability of many construction
workers not being present for the job is 0-65. The probability that many
are not present and still the work gets completed on time is 0-35. The
probability that work will be completed on time when all workers are
present is 0-80.

Let: Ej :represent the event when many workers were not present for

the job;
Ej : represent the event when all workers were present; and

E : represent completing the construction work on time.

65/4/3 ~~~~ Page 19 P.T.O.



37.

I0h TEAT & UR W, Feffad et % 3w G

() |t HfeeRl o M T A HI WRERAT F1 & ?

(i) T THT W YA B S hl JTREhdT =1 8 ?

(i) (%) e w2 fo Rl 99 W 9 & T, 9 95§ AR % B T

q 3T <hl ATRrehdT =11 8 2

HAAT

(i) (@) foonr w2 6 <& 9wy W qU g m, 9 @t gftel % e W
3ufesrd g <t ITiehdar = R ?

ThOT {ETTT - 2

HMT f(x) Teh ATEdfereh HIF 1A %eld @ | a1 S8R

o Tt 98 1 srEe (LHD.) : Lf(a) = lim L2 =1@
h—0 —h

e o1 ua P A (RED.) : Rf(a) = lim L2t = 1(@)
h—0 h

T &, Th B f(x), x = a W JATha-1d Haaldl & I¢ x = a W 38 L.H.D.
3 R.H.D. &1 ATEdcd & a1 gH1 9 2 |

|X—3|,x21
BT f(x)=9x% 3x 13
222 k<l

4 2 4
o forg fFfafed st % I ST

()  f(x)HIx =1 4 9 1 37harsl (R.H.D.) F1 8 ?

(i) fix)HIx =19 ¢ Y& T 3Tl (L.H.D.) FT & ?
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37.

Based on the above information, answer the following questions :
1) What is the probability that all the workers are present for the job ? 1
(i1)  What is the probability that construction will be completed on time ? 1

(i1i)) (a) What is the probability that many workers are not present

given that the construction work is completed on time ? 2

OR

(iii) (b) What is the probability that all workers were present given

that the construction job was completed on time ? 2

Case Study - 2

Let f(x) be a real valued function. Then its

e Left Hand Derivative (LH.D.) : Lf(a) = lim -2~ P =@
h—0 —h
f(a +h) —f(a)

o Right Hand Derivative (R.H.D.) : Rf’(a) = }llim n
-0

Also, a function f(x) is said to be differentiable at x = a if its L.H.D. and
R.H.D. at x = a exist and both are equal.

|x—3|, x>1

For the function f(x)=9x2 3x 13
. — |
4 2 4

answer the following questions :

(1) What is RH.D. of f(x) atx=17? 1
(11) WhatisLHD.off(x)atx=17? 1
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(ii1) (a) Check if the function f(x) is differentiable at x = 1. 2
OR
(ii1)) (b) Find the f/(2) and (- 1). 2

Case Study -3

38. Sooraj’s father wants to construct a rectangular garden using a brick wall
on one side of the garden and wire fencing for the other three sides as
shown in the figure. He has 200 metres of fencing wire.
= —
s f
” giieetd
- et
Based on the above information, answer the following questions :
1) Let ‘X metres denote the length of the side of the garden
perpendicular to the brick wall and ‘y’ metres denote the length of
the side parallel to the brick wall. Determine the relation
representing the total length of fencing wire and also write A(x),
the area of the garden. 2
(i1))  Determine the maximum value of A(x). 2
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